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(BAEY) 2o 68)

Dfx)=c= f'(x)=0
2)f)=x= f'(x)=1
3f(x)=ax = f'(x) =a
4)f(x) =x" = f'(x) =nam !

5) f(x) =Vx = f'(x)zﬁ

6) f(x) =g(x) £ h(x) = f'(x) =g'(x) £ h'(x)

8) f(x) = E % h(x) #0 = f'(x) = 9 (x)h((xl)l(qu)(:f)h (x)
AP —a. h'(x)
9) () = joy M) #0,  Sace s f@)= e
f(x) £
sin x cos X
COSs X —sinx
tan x sec’x
sec x sec x tan x
cot x csc’x
CSC X — cscxcot x




doai 18 oll) A)al) gL ao) 6B

X>0 dua f/(x)=;1cﬁ3‘s§ f(x): Inx il

/ : :
gx) >0 & ¢« f/(x)= Z((;)) B f(x)=In(g (x)) sy

ol A glEtd) ae) g

Df(x)=e" - f'(x)= e*

2) f(x) = eI > f'(x) = e9™.g'(x)

3) f(x) = a* - f'(x) =a*lna ,a> 0

-Aldud) sasd

(fog)(x)=fi(g(x).g'(x) .iaawlli Ihll @
o u=g(x) « y=f(u) <

dy:dyxdu

dx du dx

=Ag yia) jlall caliiiial)

y=ft), x=g(

dy dy/dt ax
dx  dx/dt " dt
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n+1

x
1)[de=Kx+c Z)Jx"dxz +c
n+1
3) fK f(x)dszff(x)dx
8 [(af@+bgt0 dx=a [ f@dx £b [ g
-4y il coLalsal)
1) fsinx dx = —cosx+c¢ 2) jcosx dx = sinx + ¢
3)fsec2xdx = tanx + ¢ 4) fcsczxdx = —cotx + ¢
5) jsecx tanx dx = secx + ¢ 6) fcscx cotx dx = —cscx + ¢
sdouy) A cLalss
l)jexdx:ex+c 2)je‘xdx=—e‘x+c
1 1
3)faxdx=—ax+c 4)Je“x+bdx=—e“x+b+c
Ina a
a8 gb LSS
1) [ dx=tnixl + 2) (LD a4y = mifa) +
—dx = In|x|+c ——dx = In|f(x c
X f(x)



